Відповіді

9 клас

1. а, б, в.

2. б.

3. 1 – Г.

2 – Б.

3 – А.

4 – В.

4. в.

5. б.

6. г.

7. а, в.

8. ZnSO4+2NaOH = Zn(OH)2[image: image2.png]


 + Na2SO4
Zn2+ + SO2-4 + 2Na+ + 2OH- = Zn(OH)2[image: image4.png]


 + 2Na+ + SO42-
Zn2+ + 2OH- = Zn(OH)2[image: image6.png]




9. а – 19%

Дано:


m1(NaCl)=40[image: image8.png]-0,15=6



г
m1(NaCl)=40г
m2(NaCl)=160 [image: image10.png]


 0,2=32г


W1(NaCl)=15%
m(реч.)=6г+32г=38г
m2(NaCl)=160г
m(розч.)=40г+160г=200г


W2(NaCl)=20%
W= [image: image12.png]38
200

+100% = 19%





W(NaCl) - ?

10. б – 38,9г

 Дано:

m(CaCl2) = 200г

m(реч)=[image: image14.png]W-m(pozs)
100%




W(CaCl2) = 15%

m(CaCl2)= 200[image: image16.png]







    30г              
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m(A[image: image18.png]


Сl) - ? 

CaCl2 + A[image: image20.png]gNO



3 = A[image: image22.png]


Сl ↓ + Ca([image: image24.png]NO



3)2





   111г


    143,5г






Х = 38,9г






Відповідь:   m(CaCl2) = 38,9г

